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[EED]
PRISEIZE 25075 A (RS S BORRFTSEE) X 4.48.7100 = 112,000/
BEDIEE 255 (HEOBEEERL) x 27.48,7100 = 68,700
P=REE 4 A (HEORIRBELD x 17,2000 = 68,8004
EEEIFE 1 HFE x 20,7004 = 20,7004

INE(I00MsREBEIURT) 270,200
[EED]

PR1SEIER 2505 B (A0~6immiRieE2B0RMAMEE) < 1.37.7100 = 34,250

BEDZE 260AEHOEEEERSD x 7.77.100 = 19,4250
YERIEE 2 AA0~BAmDIBIRREHKD x 7,900 = 15,800H
FEEER O1HE x 5,400H = 5,400H

WETCI00AARSEEIUIET)  74,800M@

[BRIISHREESD]
FR1SEIER 250 HGRIRREB =B ORISR < 1437100 = 35,750M

BEIEE 25HhAEHEOETEEERS) x 7.027100 = 17.550H
PYEEIZE 4 NEFOHRRBLD x 5,300H = 21.,200H
FEEER 1 HE x 5,800 = 5,800M
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st(100M=AEIYET)  80,300M®
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